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F-642

M.A./M.Sc. (Third Semester)
EXAMINATION, Dec. - Jan., 2021-22

GEOGRAPHY
Paper - Twelfth

Settlement Geography

Time : Three Hours] [Maximum Marks : 80


Note : Attempt all sections as directed.



(Section - A)

 

(Objective/Multiple Choice Questions)

(1 mark each)

  

Note : Attempt all questions.

  

Choose the correct answers:
P.T.O.
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1. 

   

(A) I I I

(B) I V

(C) V

(D) V I

An Urban settlement containing a population between

5000 to 10,000 persons falls in which class of urban cen-

sus-

(A) I I I

(B) I V

(C) V

(D) V I

2.   





(A)   

(B)  

(C)   

(D)  
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"All the large cities grow about many nuclei rather than
around a single central business district", which of the
theory indicates?

(A) Concentric zone theory

(B) Sector theory

(C) Multiple nuclei theory

(D) Hexagonal Theory

3. 
  

(A)  (B) 

(C)  (D) 

Which one of the following states has the largest percent-
age of the slum population to the total urban population.

(A) Chhattisgarh (B) Gujarat

(C) Kerala (D) Jharkhand

4.          
    

(A)   (B)  

(C)    (D)  

"Urban geography is, infact, the intensive study of towns
and their development in all their geographical aspects"
Who said?

(A) G. Taylor (B) L. D. Stamp

(C) R. E. Dickinson (D) H. M. Mayer

P.T.O.
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5.          


(A) 

(B)  

(C) 

(D) 

Who gave the four Hypothetical models with reference of
Evolution of settlements-

(A) J. C. Hudson

(B) E-Bilund

(C) Hagerstrand

(D) P. Haggett

6.        

(A) 

(B)  

(C)  

(D) 

Who gave the five theory of development of settlements?

(A) G. A. Doxiadis

(B) E. Bilund

(C) C. O. Sauer

(D) T. G. Jordon
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7. 
          
 

(A)    (B)   

(C)   (D)   

"Settlement geography deals with the facilities men build
in the process of occupying an area" who define?

(A) K. H. Stone (B) T. G. Jordon

(C) Jean Brunhes (D) C. F. Kohn

8. 


(A) 

(B) 

(C) 

(D)  

In which place maximum compact Rural settlements is
found in the world?

(A) U. S. A.

(B) Australia

(C) Finland

(D) Monsoon Asia

P.T.O.
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9.          
          


(A)   

(B)   

(C)  

(D)   

"Cities do not growth up of themselves, countrysides set
them up to do tasks that must be performed at central
places". Who told?

(A) R. F. Dickinson

(B) G. S. Welrwein

(C) Mark Jefferson

(D) R. R. Myers and J. A. Beegle

10.  


(A) 

(B) 

(C) 

(D) 
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Growth pole model is postulated by -

(A) Smith

(B) Perroux

(C) Myrdal

(D) Hagerstrand

11.            
 

(A)  

(B)   

(C)  

(D)  

Who determine the Umland basis of only Bus services

(A) Harward L. Green

(B) A . F. Samiles

(C) Andre Allix

(D) R. E. Dickinson

12. K3


(A)   

(B)   

(C)   

(D) 

P.T.O.
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According to Christaller, settlements of different orders
in K3 -

(A) 6, 42, 294

(B) 128, 512, 2048

(C) 27, 351, 4563

(D) 1, 3, 9

13.  

(A)  

(B)  

(C)   

(D)  

Index in Actual Fringe Area according to Myers and Beegle -

(A) Above 60%

(B) Above 50%

(C) 20% to 50%

(D) Above 40%

14.       

(A)  

(B) 

(C)     

(D)  
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Which method of functional classification of tours is based
on statistical method?

(A) Horward J. Nelson

(B) Chouncey D. Harris

(C) N.P. Grist and A.H. Halbert

(D) Weilmer and Hoyt

15. 


(A)  (B) 

(C)  (D) 

In which place central Business district is called 'Down
Town'?

(A) America (B) Britain

(C) Germany (D) France

16. 
       

(A)  (B) 

(C)  (D) 

According to Rank - size Rule if the first rank town has
population of 1,00,000 than what will be population of the
second rank town -

(A) 25,000 (B) 75,000

(C) 40,000 (D) 50,000

P.T.O.
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17.     

(A)  

(B)  

(C)   

(D)  

Which one of the following is centripetal force -

(A) Functional force

(B) Social evolution

(C) Status and organization of occupance

(D) Spatial Force

18. 
    

(A)  

(B) 

(C)  

(D)   

Who delimation the central Business district bases of
'shop rant Index?

(A) Sund and Isachsen

(B) Charles M. Downe

(C) William olsson

(D) Murphy and Vance
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19.      

(A)  

(B)    

(C) 

(D)   

Main characteristic of Blight is-

(A) Decreasing population

(B) Increasing population

(C) Poverty

(D) Unfit housing

20. 

(A) 

(B) 

(C) 

(D) 

The objective of Town planning is -

(A) Beauty

(B) Health

(C) Convenience

(D) All the above

P.T.O.
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

Section - B

 

(Very short answer type Questions)

(2 marks each)

   

Note : Attempt all questions in 2-3 sentences.

1.      

Explain the major characteristics of 'Urban Blight'.

2.   

What is the meaning of settlement?

3. 

What is meant by Umland?

4.        

Discuss in brief the principles of Urban planning.

5.         

Describe the methods of determination of dispersion of
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settlements.

6.         



Differentiate between compact and dispersed Rural settle-

ments.

7.     

Differentiate between Basic and Non-Basic work of towns.

8.       

Give any four characteristics of central Business district.



Section - C

  

(Short answer type Questions)

(3 marks each)

   

Attempt all questions in about 75 words.

1. 

P.T.O.
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"There is vast differences in urban settlements". Explain

this statement.

2. 

  

"It, (C.B.D.) is somewhat a vague area with no definite

boundaries". Explain the statement.

3.       

Discuss the causes of multiple nuclei growth of towns.

4.        

Discuss the various aspects of planning of cities.

5. 

Describe the base/class of place name of settlement

(Villages/cities).

6.      

Describe the pattern of rural settlement.

7.        

Discuss in brief the Rank - Size Rule.

8. 
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What are the main objectives of Urban planning?



(Section - D)

  

(Long Answer type Questions)

(5 marks each)

   

Note : Attempt all questions. Write your answer within 150

words.

1.       



Describe the factors affecting the Evolution of settlements.

2.     

Explain the Growth Pole Theory.

P.T.O.
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3.   

What is meant by centripetal and centrifugal forces in

Urban centres?

4.          



Describe the method of functional classification of towns

by Nelson.


